Missing mass shifting

Q=3.0, W =3.14, left, high epsilon

Raw data = /lustre24/expphy/cache/hallc/kaonlt/Pass3_Dec_2023/ROOTfiles/Analysis/KaonlLT

Steps

* Apply kaon cuts on raw data

* Fit the A peak with gaussian

* Shift to A peak to 1.1156 GeV/c?
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Missing mass shifting

Q=3.0, W =3.14, left, high epsilon

Raw data = /lustre24/expphy/cache/hallc/kaonlt/Pass3_Dec_2023/ROOTfiles/Analysis/KaonlLT

Steps

Apply kaon cuts on raw data
Fit the A peak with gaussian Raw data
Shift to A peak to 1.1156 GeV/c?

Repeat above for pion
* Apply pion cuts on raw data
e Fit the A peak with gaussian
* Shift to A peak to 1.1156 GeV/c?

Compare the pion peak and subtract

However, the wrong branch is used here.
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Missing mass shifting

Q=3.0, W = 3.14, left, high epsilon

e Shift is stable for kaon
e Disregard the orange points
e Ok to fit missing mass peak for entire setting
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Over-subtraction * norm by integral->over-subtraction
e Extra scaling the pion ? (current approach)
* Fit crystalball, smear with gaus take the ratio of the integral
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Fit the Sigma peak with crystalball and subtract
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hallc_replay_It/UTIL_KAONLT/run_list/KaonLT/Q3p0W3p1l4left lowe

Occasional repeated run number in the list.
If you are using these files, make sure you 'list(set(runs))




Need to run replay again?

/expphy/cache/hallc/kaonlt/Pass3_Dec_2023/R00Tfiles/Analysis/KaonLT . Once
corrected, rerun the apply_cuts.py and shift_missing_mass.py . Currently, the

problematic runs are

4892, u893, U896, U897,
4925, U926, U927, U928,
4ous, uoue, uoU7, U952,
5064, 5067, 5068, 5072,
5096, 5097, 5098, 5100,
5118, 5119, 5120, 5122,
5315, 5316, 5317, 5318,
5329, 5330, 5331, 5333,
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